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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Comprehensive Questions Overview

Comprehensive Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam
is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Comprehensive Questions.

Comprehensive Questions

Direction: In the questions given below, there is a sentence in which one part is given in bold. The part given in bold, may
or may not be grammatically correct. Choose the best alternative among the four given which can replace the part in bold
to make the sentence grammatically correct. If the part given in bold is already correct and does not require any
replacement, choose option 5, i.e. “No replacement required” as your answer.

Question

The plastic ban introduced by the municipality has been a total failure as there has been no reducing in the usage of
polybags.
Difficulty : Moder ate Average Time: 52 Seconds

Options :
1. is no reduce

2. has been no reduction
3. have been no reduced
4. is not any reduced

5. No correction required

Solution

The correct answer is option 2 i.e. has been no reduction.

Replace “has been no reducing” with “has been no reduction”.
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